EARAROBEEIERT — 2 N— IBISH —F

201752828 (K) 13E11I4H

m TJaMKR—XEME C1 Y7%—#H% ‘ [XM&] # ‘ (gEmml - | & (&) %0 &
[x&<£] 1% :1,300,000 @ ~ 23%&:390,000 37 :234,000 M ~ 43 :156,000  ~ 5 7 :130,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
7 | SHER 54.7 2-5-3 36.9| — 4 a4 | EXEE— (I1E)
ilsle| voxrsE 54.0 <) o | ) wess
R:HYIRT4 5 BVIEE—FZX B4
o4 | AIAEE 54.8 4-1-2 | 37.2| — 1 468 | KEFE=E (fafh)
27|10 ZTv70O— 56.0 1/2) o |FEIBZE
RTRIAYE—F BT U—H SRS
— B9 | WisEt 55.0 6-7-4 |36.9| — 5 489 | HtEE— (J11I&)
35|57 bAT FRE— 54.0 1 7 | B FiEss
L:T7yv3IT—L BRIV T4—IN— T4
S5 S = B4 | HEEF 55.2 1-1-1 | 37.9| — 3 475 | NARE GAFN)
4l8l1p YaET AKX 54.0 (11/2) (o) |PEW=
RHIRT 4GSR BRXASTTINA EPaY ¢
N N REME . —12- . - sEARFT A (115
5 AP B4 Fa 5(51)4 12-12-12 | 36.3 9 <4+914) By
Zoxam BEYY T A — LasEe]
B o o5 4 | SEEA . 4-5- 7. = 1 gz (1)
6|79 | NNVT1H—=2a % 54.0 <5751:§> o ‘ ‘I;‘f #) A=y K
:707% B:NX/N—tILT T BEfE
< el F AR 11— - 1eiEiEae (I
71111 IXFTIAL Y F s 5?4.0 5(51')7 10-11-11 ) 87.4 ! (4_721) /AR
L:¥xrinM4n— B:¥21-bxX2 FRiKBREB LS
P Be] ZBEE -8- — EisEE (KH)
8 MERE = e 5(51.)9 11-8-10 | 37.6 1 (4_6;6) pdhonil
R:xAa1=gr—2 B:FFIEHY INHISHT 7 — LI
N 46 | BATHER 55.9 9-9-7 [37.6| — 8 459 | IERR RN
9 3 7[:]27_"—/\— .0 (INF) (-5) ‘;E/ 4
RHYIRT4 I BAXHILIZX VDAY ¢ ]
— gy _ Y 3| — BAE— (1l
10 gl 7Zbly¥afxvib o 54.0 (7?5997) 55 %8 ? ?_4; RS
LHIRT TR B:ovNAXv) HE B—
e — HEEAH —10— — R (115)
M BEESTLIPr (R ] ey A s Oy |
Z:arFaqAy b B:UIZX7A0747 EvJLy RT7—L4
PS5 4t 4 | PEFIME 56.5 8-3-7 |38.6| — 12 | 472 |FEBE—% G#F)
12/8|11| 77 =AU = 54.0 (1/2) 4oy | RIB=
LiNR=HINK BiRRII SHME
® I —F—EBIERL
13—7—
Aol=5r= 12,6,8,(9,10),(2,5),11,3,1,7,4
G§a=7r= (10,12),(8,11),(6,9),5,7,3,2,1,4
43—7+— |12,10,6,5,8,9,(3,11),2,7,1,4
[ RN
B OB 6 1,260 714K 6-10 590M e & 5-7 650M &R 5-6-10 4,190
8 B 6 270M 5-6 1,610 B &=/ 1,900M JEH 6-10-5 28,700/
10 130M4 5-10 890 B E 6-10 1,380M
5 280M B H 6-10 3,800

ABICOVWTRDTEEERROODE. TR LIV,




